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daga ilaglas
g (£0) Glaie¥) A S Al 2e -
Aadia (YA) glaie¥) i) S Ciladia s -
i g gl (Olaiel) du) S Cladia 230 ey Alanl) a5 e U -
(el EDE) HLaaY) e -
Aad (V) Jlaadl Ayl ds all -
P Agling ciladedl) 032 18 . qllal) (6510
ALY e ol g g Al dasie ol laie¥) Al S dadia 8 ¢l gus 12 Cillaglail § 3
Ala) (8 el U8 s 48 S8 liny Jlpad) T
(Jps JS O 1t Baa) g dady Y sthall g ¢ gl daa e Ali) o
REGN S P VRRES W PRV SPRTCH DWW UR PR I8 1| P B PG L B MU PN PR A PR
Aaliad dalall Ala 85 Lla Dl daiadid) daluall 8 coal dllad) Al W30 elils) xie
sl e G Cual )5 ) 3 LAY aa 83 gasal) Ciladia A LY JlSinl (S 5 A
L8 padi oy (o g

ki (B) 5 (A) ¢& el A LEAY) Allial) ALY e dlifla) xie
1 g Of e G JUEAY) Aliud ce dila) die

s IS SLAS Sl damall Ay e JIall el cld 5 yalall JUs
e (C) Aauaiall LY 1l

: Aaaal) 4aY)

®OE

Asnaa Y Gt Asgaia ) il Chall cud o (ad dla) il 13 L dlla 8-
L ) et Uad dls) Cuals adallly Cadd G ¢ dapaa s cual 13 e dlls 4 -
; ddsala
o) ey o ST e JalAEl) a5 13) (A cpe JLEAYY) Ao g gal) ALY Al B
Mol ) el ¢ GlaY) ) S o
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() 51 (1) e Bala 31 251 (V)
1 doouall Al B oS

1- Choose to answer (A) or (B) only
Choose the correct answer

A) In the circuit shown in the figure three
lamps with different resistance each lamp
is working on 6 volt, so the e m f (V) of
the battery needed to operate these lamps is

equal to

B) In the opposite circuit when the switch K
is closed, which of the following choices
represent the change in the reading of the

A

Ammeter and the Voltmeter?

A5 Sty Aot 5,50t 8 (1)
aatise (C. B (A) polias
8,2 e rluas S Joay Aoyl
aadlat 55211 (OV ) uyeS uga
aa331 (V) dopliartt ey g
1S obun Laylude moleatlona 3e Loy

Glé wie JSATl Wied) 550001 3 (o)
Jien 5% oyl @1 K zliaen
et gatl 31,8 B Coslodl andl

$ yialy

Choice | Reading of voltmeter | Reading of Ammeter
Vg :|7V HLas Y el gatl 3s 48 eI Bsl,8
1 ora @ Increases Increases
7\ a3 aa33
30 @ Increases Decreases
Lo 1 > =
K @ decreases Increases
AN Jas alays
3Q @ No change Increases
Gy a3
2 alwd 1]
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2- Ammeter reads up to I, and has a resistance of 0.1 | &l e 1,2 (0.1 ) aiaglie ,ouei (Y)

Q. What is the value of required shunt resistor to (Ig) asaslsam s
increase its reading 10 times original? 3aLa3T A )N HLATS (6 pone A glie s

(I ) ) A ey At LG (i

3- Choose to answer (A) or (B) only +(2) of (1) e Al W1 30 (V)
Give reason for: ‘e
A) Step — up transformers are used at generating | #2211 &SI S¥ gt pusins (1)
power station to transfer electrical energy to | Slasws (re G e ABLall Jaid uganld

zones of distribution. Slga il (Slel I Land g3
B) The standard resistors are made of double AT (0 Al Glaglaad! pias (o)
wounded coils. Sl 93 30 Lat A2 gal0

4- In the opposite figure the coil with iron core able | (e co® als i cats Jolaati gsuti 5 (¢)
to move, and the coil is connected with Ohmic Aoyl daglae pe Juaie alolly dyistl
resistance, Ammeter and battery in series, what B S 350 B MU e Aypllayy el
happen to the reading of Ammeter if the iron core | wow wie yiue¥! s1,a Gimy 3l 2alas

is withdrawn from the coil rapidly? $2 s alall (30 (Sutyiom | ula)
I
i —f0 n e
o
R | Ammeter
— —®
¥ |7
sl
3 A pals
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5- Choose to answer (A) or (B) only 1(2) 91 () e Aala M a0 (0)
Give reason for: TP
A) The Line spectrum of X ray may be not a¥1 B Sueadl cadall sglay ¥ 43 (1)
appears. ) St
B) The wavelength in Leyman’s series has the dB10kert Ao parma aido B o2 gad I I slal | ()
shortest wavelength in hydrogen spectrum . S gyl 1353 adad A gl 19l Y

6- In the logic circuit as shown which one choice in
the truth table makes the output D =1

O ST ISl Aied! Aalaiall 3,500 3 (1)

D=1 ;501 & o8 Gas 2331 O1Las ¥
o do s Bl 2

Choice A B C
ksl
0 0 1
A AND @
B— » D[ ® I 0 1
C @ 1 0 0
@ 0 1

7- Write the relation of Ampere’s circuital law. O B p—nalt Aaly b1 A8att isI (V)
p
NN el (5313

8- What is the function of the magnetic field of Jlaelt 4 psdy ot Houtt Le(A)
the permanent magnet in the electric motor? |2 =14 pudoliaell udaliaaed!

S S I pmalt
4 m‘Y!&'G
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9- Inductive coil with Ohmic resistance 10 Q is stiacs Jog (10 Q) deag¥1asiaglie cn cate (4)
connecting with A C source of e m f=10 V calculate (10 V) i 31 223131 4548 33 550 4L
its inductive reactance when the intensity of the Loctic calell Adiod) Atelaal) cuus|
electric current in the circuit = 0.8 Ampere. (0.8 A) ad 5 Ladt HLaitt 3 (955

10- Choose to answer (A) or (B) only: (@) 91 (1) e Aala W1 51 (VY)

A) Mention one example for electronic specialize| wasiodi o fu_aiy ¥lia , 831 (i)
devices. FRCR]

B) Mention the name of device which convert 2925 o padicnad | jleand! ol 5S31 ()
continuous signals to digital signals. Sl ) Alalell 2 et Q"‘Zﬁ“
ch)

11- Choose to answer (A) or (B) only: () 9l (1) e Ml 351 (1Y)

A) What is meant by optical pumping? § 3 3l il Alams 3 gusiad | La (1)

B) What is meant by the laser beam does not i ¥ 5l dasl o) Llgis Gia hle (o)
obey invers square law? $ aaSall o 301 Oy it

5 Al s
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12- Choose to answer (A) or (B) only 1(2) 91 (1) e Aala ¥ 551 (1Y)
Choose the correct answer + Aovouall Al M1 i
A) The equivalent resistance of three identical Alilatte ile glie DI REAISaT 1 ha glaat | (1)
resistors is connected in parallel = 2Q, s0 its | 0555 (2 Q)gskus 31511 e Auaie
equivalent resistance in series is equal to: oo Jrogid) e gl LISl dnglaal!
L ylude 319!

B) In the circuit as shown in the figure, if the 1530 JSAIL Bieealf o pgSI1 3,500 B ()
reading of Ammeter 1 A the reading of 38 055 LA jue¥i 51,3 cals
voltmeter is: : yieaid gal

3V [ Yomto 3v
@ | r=1Q @

@ TV 3Q R 7V @

A
@ gv - ov @
\Y
13- In the circuit shown in the figure, it’s a circuit iy At B USATL Wiead 15,5001 (V)
in resonance, what happen to the reading of e el gt Bel it Cokomy 1310
voltmeter when the switch K is closed? 5K pliadt gl
C

16666\ '7

L /K
¢
®

® 3

6 AW s
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14- In the circuit shown in figure the phase angle | JS—Ib et an gs313, 5001 5 (1)

between total voltage (V) and current (I) (V) ASI agand 1 358 (s yakalt gl
passing through the circuit is : s 9ku 3,500 HLett (1) ey
@) +90° +90° (D
@ +45° X—=80Q X =60Q R=20Q +45 @
450 o -45"
-90° -90° (®
15- Give reason for: e (V0)
The resolving power of electron microscope is 9 ST o gS g ySeeall Aol 1 55 BT
very high . N B8
7 AW
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16- In the circuit shown in the figure, calculate:

(1) Current intensity passing through the
resistance R

(2) The value of the resistance R .

s s | ST Ly Acad! 33140 B (V1)
CRoiaglaats Lo slan Lanisaa (1)
‘R‘MJLZ@“J‘..LEJ (\’)

[,=02A 60
1=0.6 A ’\/\/\/{{/\/\/‘
129
L=01A
||VB
|'r:0

Jo gt Aalisne dga Olacline Coansiw! (VV)
(Ig) dite dtomy 515 ol 5 e it
CHLEV RS PPE JRU-P oL P [
Cr BBMaT A Jgaantt Loy (V)
et 9al | duacs O (ySas g (58 aad]
st Blaatt (Rp) gt cacline yluzag

17- A number of multipliers is used to convert
galvanometer reads up to Ig to Voltmeter used
to measure potential difference (V) , the given
table represents the relation between maximum
measured voltage and the magnitude of the
multipliers Ry

V (volt) 7 9 11 13 15
R _(Q) 300 400 500 600 700

Plot a graph between (V) on the vertical axis and | jte (V) gm0 2600 2 8Mall @)

Ry on horizontal axis, from the graph find the | 5 sty e (R) 9 gl 11 y5-natt
current of galvanometer I. (L) i s 1 c3m9 28YY
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18- Choose the correct answer

The value of instantaneous induced e.m.f in the
coil of dynamo when the magnetic flux passing
through the coil is maximum, is equal to

@ The maximum value
@ The effective value
@ The average value

@ Zero

19- Choose the correct answer
Straight wire its length 1 m carries a current 2 A,
is placed normally in a uniform magnetic field,
the wire is affected by a force 3 N so magnetic
flux density of the field is equal to:

10

s Aovoual! Aala Wi 500 (VA)
Hisinal| B pgSH| AndIAY) BgaY lide
O9Ss Ledie galiond) cale B Adasll
Lle AN Ll udsliaed! padall

1S9lun olae
Allad 2ol

OO®OO

.‘}&.‘a

 Asoual | Al ¥ il (14)
Gt LS s ey (1) sl ats il
Jlos e Lisgas pudg Lo (2A)
s 0555 (3N) 59y 3l udbliae
Lo jlizie Jloval ! 1agd unolined| .l

m‘Y‘ &)G
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20- Choose to answer (A) or (B) only () o (1) oo Al ¥ K51 (Y0)

Give reason s e
A) The P — N junction is used to rectify A C . a9l SIS 2ALAN Alogll pusius (1)
§aa )it HLad

B) The conductivity of semiconductor is increased
hi o its € tu ded Baled Ao ygSdl Al i1 31855 (&)
with increasing its temperature . Lyt A s Lol Alimgn

21- Give reason for: e (YY)
Laser beam is used to determine the astronomical Olaluall uld 3 55l plad pdini
SasLal

distance

22- Write down the mathematical relation which | 4ed>iuet! Ausby 31 A85al) LS (YY)
is used to calculate the energy of any level in | 3,3 -2 siwe g1 2Bl Clws -2

hydrogen atom. <o 9yt

11 A 5
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23- Define the alternating current rdaye (YY)
L33 et HLady
24- Give reason for: s e (YE)

The magnetic torque acting on rectangular coil | 23! guboliast! z193)¥1 pje a8l
carries a current is placed in a magnetic field and | ¢2r¢S Jbs 4 oo Jubatis ale Lo
its plane parallel to field 1s decreased gradually | astygs slai udoliae oudad (p poge
until reaches the normal position Lilge ol giue dd )9Sy 11 pngll (po
§g2g0all o gll (i g Jlomall ol

12 Al 1]
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25- Choose to answer (A) or (B) only () 9l (1) e a1 351 (Y0)
Choose the correct answer s Aovouall Al N1 5
A) When the length of the wire is increasing to Caall Joge Jsb Bal e (1)
double and its cross sectional area decreases to | 012 awill dalade dxlus yadiy
its half, the resistivity of the wire becomes sedsled due gil) e glaad!
@ Increases four times LJlial dasyl 31835 @
@ Increases three times JLel A5 ala 33 @
@ Increases to double wanall 31333 @
@ Does not change RS Y @
B) If the intensity of electric current in a JLedt o peSI LAl B OIS 131 (o)
conductor is 2 A . so the quantity of electricity | %S 0555 (2 A) Juogatt oo
(charge ) which passes through the cross s alade pad G| A et
section of the conductor in one minute is : 1l ylide A58y IS Juo 9ol

@) 120C 120c (D
(b 60C 60C @
© 30cC 30C &
@ 2c 2¢ ®

13 A gl
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26- In the opposite figure, two metal rings its (e Olitiias Qlials L JSidl o2 (1)
resistance negligable in the same plane is affected | S5 2 dlegr Arag¥! dinglie il
by varied and normal magnetic field, the ratio reie e \“"" "“f’“ L“‘“"‘ ’33{“": 9
between e.m.f generated in coil (Y) totheem f "b Goaee Mf"" ¢ ‘“'b“ Juner °“f“"
i i } A8l 39N (po Awdd) OLB Leslgiase
generated in the ring (X) is equal to: BBl b 5t grall Aovieeall A et
Hiiuad! Ay Zadlat 34301 11 (Y)
s g9l (X) Halod! 8 501 gl

@ 4 4 @
® 2 2. @
© 05 0.5 ®
@ 025 y 025 (3

27- Photon with wavelength 4 X 107 m falls on a e (4% 1077 M) 2 50314150 550 s (YY)
surface of metal with work function 2.3 X 1075 | (2.3 x 10719 ]) & gassiatts puse plaw
find the kinetic energy of emitted electron from | g iaia oy sty 48 o> Ablhs Cows |
a su}rfzice of thge metal, gixien tll(l’at speed of light | | gt e s s Lale Grlaal et (s
in air = 3 x 10°® m/s and Planck’s constant (3 x 108 m/s ) il 5 154l o2

_34
6.625 x 10 J.s. (6625 « 10—34 Js)dﬂ)&g&)u}

14 Al 1]
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28- Choose to answer (A) or (B) only 1(2) 9l (1) e Al 351 (YA)
A) What is meant by the following statement? | : 20313 bal dde Ju5 L s (1)
The method of connection of group of Clagliad! (po Ao game Juwosd Ai b
electrical resistors with different values to IS0 daglite ol Adliual | d eS|
form equivalent resistance its value less than e gamall b A glie ksl (pe I

the smallest one .

.. Ol (e Lo (@)

B) What is meant by? o S A LAY J pisal| 1S3 JA1
The total work done to transfer one Coulomb . / ) C
. . . gsA:,,b.,g.D.gs.st;.u(l )
inside and outside the battery in the closed 15 oot 2mtse 2
circuit = 15 Joules (19 Dgolun 2alhn Bapes o m

15 A a5
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29- Choose to answer (A) or (B) only 1(2) 91 (1) e dala W1 51 (Y4)
Choose the correct answer Al | Agla W1y |
A) Straight wire with length 2 meter is moving | 4 s (21N ) At sl osiins il (1)
with a velocity 10 m/s perpendicular to e g3smee (10 M/ S) e puus
uniform magnetic field with magnetic flux AL latie aulaliae Jloe doytas
density 0.1T, the induced electro-motive aai 554t 0ps5 (0.1 T) sz
force generated is equal to (6 93 A8 B $Ta | Bimiauad | ey ST

B) Inductive coil with self- induction coefficient | cabte 2 sLedt o oS3 HLAN 535 Jutas (o)

0.25 H is needed to generate an induced wisit s 0.25 H st as
electro-motive force = 10 volt , the rate of 10V dice apes wadis 358
change of electric current passing through P (§gbun o)liade

the coil 1s equal to

@) 0.025A/s 0.025A/s (1)
® 254/ 254 (@
(© 1025A/s 10.25 A/s
(@ 40A/s 40Als ()

16 Al 1]
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30- Choose to answer (A) or (B) only
Mention:

A) Wien’s law

B) One application for a thermal imaging in the
medicine.

31- The figure represents one of electron transitions
in hydrogen atom. Calculate the wavelength of
the emitted photon
(Knowing: h = 6.625x10** J.s , ¢ = 3x10* m/s
and e =1.6x10"C)

(@) 91 (1) oo Ayl ¥ 551 (Y4)
1S3
O 09318 i (1)
B Gt gl lasly Lindas (o)
codatl Jlows

09 S WA ol Yy I ISt (YY)

O go-ugll 853
O9gall (gl Jodatl cowuss|
1ol Lele el

« h=6.625x10%*Js)
«c=3x% 108 m/s
(e=16x10"7C

n=3 e -1.51ev
n=2 -34 ev
n=1 -13.6ev

17
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32- In helium neon LASER compare between:

1O QUL (196 p ol 550 G2 (YY)

Point of comparison
wHlatl dx g

Helium gas
P ol

Neon gas
Osd!

The source of
excitation to the

higher level
S 8,50 jiuae

Latt Ok gl

33- What is meant by?

Drift current in the P — N junction

+ d dguadad Lo (YY)
SHALAT Ao g1 (3 b W1 LS

18
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34- What is the relation between type of force Al Likal| 35311 ¢93 (s ABMall Lo (Y£)
between two wires passing through each of them
electric current and the direction of current in

i (31 850 (3miSlits (td Bubt 51

the two wires? B oLel LA olanity 2 48 L Lega
§ CrSlaal
35- Two adjacent coils with mutual induction 0.2 H Jaliat oo Ol yglmie late (Y0)

between them, the current is changed in the primary | stett sttt sus i (0.2 Hylego
coil from 5 Ato3 Ain 0.01 sec, (B A) (5 A) (o (pealadl uni b
calculate induced electro-motive force generated in .(0.01 s) g

the secondary coil. Ao ygSH AaBIaN 393 oo
- aalf B ) glalt Aimiuel !

19 A a5
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36- Give reason:

The electric current does not flow in the circuit
contains capacitor and direct current source
connected 1n series.

s dle (¥1)
Lo Aalin 5,55 b (o 68 SL e ¥

S Has pe MG Lo Jualie caiSe

37- Choose to answer (A) or (B) only:
A) Mention the effect of high direct potential on
the electrons which emitted from the filament
in Coolidge tube.

B) Choose the correct answer:
X - ray spectrum which generated when
emitted electrons from the filament loses its
energy gradually when passes near the target
atoms represents:

@ Absorption line spectrum
@ Absorption continuous spectrum
@ Emission line spectrum

@ Emission continuous spectrum

1(2) 9l (1) e Al ¥1 351 (YY)

Aall reiwal | agandt 3,8 5l ,8a1 (1)
aLoat! O 3 yslalt QBj)ISJ}“ e
ZAISS Bgal b

Aol | Wl ¥ 0s 1 (o)

Aad e il dccd A ¥ ol

Bt Aloal (e Gllaiall (g St

Clyd Slg A8 0,8 09 e e g yuidly

s Jian gl Bale

izl (D

rasn olaiel cads @

20
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38- Choose to answer (A) or (B) only:

(@) 91 (1) oo Ayl W1 3050 -FA

Compare between: 1o (LB
A) (M
Point of comparison Step — up transformer Step — down transformer

A,laL A g

dgll 221,01 o eI J gt

dgall (2Bl (1 ygsT J gl

Electric current
intensity in the
secondary coil with
regard to current
intensity in the primary
coil
Caledl B il HLad s
5| Wird (- WA O WP [ V) é”lﬁﬁ.ﬂ
LAY Calalf LB et

B) (@)
Point of Phenomenon of Phenomenon of mutual
comparison self-induction induction
£ ,Lat) A g ST Gt 15 palts Il Gt 13 palls
Physical concept
Aballaggall | i |

21
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39- Choose to answer (A) or (B) only: 1(2) 91 (1) e dala ¥ J351 (T4)
A) Choose the correct answer: s Asvonal! Al ¥ 5 (1)
Ratio between total impedance and the
Ohmic resistance in the oscillating circuit at
resonance is:

dnglialtlg A st ﬁjwtww!
sy Wl 8 5 3ig0 8,313 (B Ha g Y|

@ More than one il (e piS| @
@ Equal to one o190 (gl @
@ Less than one 158 (ye U3 @
@ Equal to zero Nyio ol @
B) Give Reason for:  dte (o)

The platinum — iridium wire in hot wire
Ammeter is mounting on a plat made of a metal
having the same expansivity as that of the hot | delas puis Lgt 83le (o 2 98 e (551t

Sea¥l B (g pga s ¥ e

wire itself and both are isolated from each other. Slgie Alje e clludfBaled saeil!

40- Choose the correct answer: s Asusuall Al sl (£0)
The associated wavelength ( A ) for a moving POMR JUVRIOORTY WISUR T R T
particle has a mass (m) and velocity (v) is V ey 1] 435 & o sole

proportional with

(@) Directly with mass m and velocity v VoI (e US ps bia o @
@ Directly with mass m and inversely with V oo LeasSe s T oo s o @
velocity v
@ Inversely with mass m and directly with Ve sk 5 M o Lusie @
velocity v
@ Inversely with mass m and velocity v V1M (e US gos Liusie @
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41- Choose the correct answer: + Asuoual) Ll 20 (£1)
Coherent photons in the optical rays means: L@l ay A gual | Aaa ¥ 15 93 9 ! 3
@ Emitted by variable phase difference in sl B pis BUals

@ Moving in parallel beams )l gie Lgiad] dej B U ol

@ Emitted by constant phase difference olh s B s B

O®OO

@ Does not obey inverse square law raSal| g 30 () g3LEY puaind

42- Choose the correct answer: 1 Aovoual) Wl W S (£Y)
The potential difference between two points | 5o, aju Lewie fuidads oo wead! 3,2
when a work of 30 Joules needed to transfer
10 Coulombs between the two points is equal to:

@ 03V 03v D
® 3V 3V Q@
© 30V 30V &
@ 300V 300V (3

(10 C) 2 g8 anes g2 (30 J) yaa
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43- Compare between:

s Ot (yld (EY)

Point of comparison
A Hlatl ax g

Ohmmeter

e g !

Hot wire ammeter
PRISTIERLY

Reason of not
equal division scale

$obud pue o
vl ?Lué;‘

44- Transistor has 3, = 50, find o., then calculate the
collector current if the base current=5x 10 > A

(Be =50) &t yoia 31,3 ()

Eeadl LS s | @3 (Olg ) qrus

(5x107A) Sualat HLa oIS 13
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45- What is meant by? + —d Aguadiall Lo (£0)

The effective value of AC =2 A $2 A\ (g5Lu 53 e L0 ATLaad) Gl

ale¥ gy
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